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Estimating Multiplication of Fractions

Name:

Deter mine the answer using estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

5x67,=

In the example above, 6 2/3 is

larger than 6 but lessthan 7.
So we know the answer is going
to be between5x 6 and 5 x 7.

5x67,=33 7,
The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

~N

of anumber. 3
\_ /
4 2 4 2 4 4.
1) 9/10X3= A 28/10 25/10 34/10 32/10
5.
4 4 3 3 4
2 3x7 /9= A. 177 28 /4 2274 28 /4 6.
7.
1 1 1 1 1
3 7x3/,= A. 177/, 317, 18 /5 24/, .
4) 5 3 3 3 3 o
7x27/g= A. 1874 247g 1174 28 /g
10.
% gx3¥,= A. 28 21 20 34 11
12.
4 4 4 4 4
O 4x4 /5= A. 147 12 /g 18 /g 22 /g
4 2 2 2 2
N 8x4 /5= A. 37174 427 48 7 437
1 1 1 1 1
8) 4/2X7: A 38/2 37/2 21/2 31/2
6 6 6 6
9 5x5 5= A. 21 /4 28 /g 33 /g 23 /g
1 1 1 1 1
10 45 /3= A. 1675 21 /4 26 /3 28 /3
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67/3= 1 A

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7 whichis ([ 2 C
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 D
L | Y
A
4 2 4 2 4 4.
1) 9/10X3= A 28/10 25/10 34/10 32/10
5. A
4 4 3 3 4
2 3x7Y,= A. 177, 287, 227, 287, 6. _ C
7 A
1 1 1 1 1
3 7x3/,= A. 177/, 317, 18 /5 24/, . D
o. B
0. B
) gx3¥.= A. 28 21 20 34 un_ A
. B
4 4 4 4 4
O 4x4 /5= A. 147 12 /g 18 /g 22 /g
4 2 2 2 2
N 8x4 /5= A. 37174 427 48 7 437
1 1 1 1 1
8) 4/2X7: A 38/2 37/2 21/2 31/2
6 6 6 6
9 5x5 5= A. 21 /4 28 /g 33 /g 23 /g
1 1 1 1 1
10 45 /3= A. 1675 21 /4 26 /3 28 /3
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-121 8 | 0
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Estimating Multiplication of Fractions

Name:

Determinethe answer u

sing estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

So we know the answer is going

to be between 5 x 6 and 5 x 7.

The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

5x67,=33 7,

~N

/

1 1 1 1 1 4.
2 3/,x7= A. 147, B. 187/, C. 247/, 35/,
5.
3 1 1 3 1
2 6 /g% 3= A. 197 B. 2473 C. 167 16 /g 6.
7.
3 3 2
3 27/g%x6= A. 974 B. 147, C. 274 675 .
4) 1 1 1 o
8x3/,= A. 26 B. 20 C. 357, 20/,
10.
3 3 3
9 gx2¥%= A 20 B. 28 C. 2% A 11
12.
2 2 2 2 2
o) 4 gx 4= A. 237 B. 177, C. 137 147
1 1 1
N 9 /gx7= A. 6474 B. 777 C. 60 /4 56 /g
3 9 3
8 3x9 /0= A. 327, B 257, C 2175 34710
3 3 1
9 2x8 5= A. 1775 B. 27, C 217/ 20 /g
10 4xgY,= A 20 B. 33 C. 28 38
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _C

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7y whichis |2 A
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 B
L | Y
A
1 1 1 1 1 4.
2 3/,x7= A. 147, B. 187/, C. 247/, 35/,
5. A
3 1 1 3 1
2 §Yyx3= A. 1973 B. 24/ C. 167 16 /g 6. _ B
7 A
3 3 2
3 27/g%x6= A. 974 B. 147, C. 274 675 . C
9. A
Y gx3¥%= A 2 B. 20 C. 37, 20,
0. B
5 gx2¥. = A. 20 B. 28 C. 267 7%, n A
12 A
2 2 2 2 2
o) 4 gx 4= A. 237 B. 177, C. 137 147
1 1 1
N 9 /gx7= A. 6474 B. 777 C. 60 /4 56 /g
3 9 3
8 3x9 /0= A. 327, B 257, C 2175 34710
3 3 1
9 2x8 5= A. 1775 B. 27, C 217/ 20 /g
10 4xg¥,= A. 30 B. 33 C. 28 38
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Estimating Multiplication of Fractions

Name:

Determinethe answer u

sing estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,
The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

~N

/

3 3 2 3 4.
1) 3x2 7= A 11/7 B. 13/7 C. 7/7 3/7
5.
4 4 4
2) 6/gx4= A. 26/ B. 21/ C 30/ 22 /g 6.
7.
3) 3 3
2x37;= A. 27 B. 11 C. 37 7 .
4 _9 9 6 o
5/10X4: A. 27/10 B. 28/10 C 16/10 23/10
10.
1 1 3
° gx2Y,= A. 307; B 197; C 30/ 36 /4 11.
12.
6 6 6 4 4
o) 6x2/g= A. 107 B. 22/ C. 24/ 16 /g
3 3 1 1 1
D 3x4¥,= A. 97, B. 97/, C. 147, 197/,
8 6% x6= A. 41 B. 467, C. 46 33
5 5 5 5
1 2 2 1 1
10) 5/g%x2= A. 107 B. 87 C. 67/ 15 /g
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _C

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7y whichis |2 A
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 D
\_ ' /
D
° 4,
1) 3x2 7= A 113/7 B. 133/7 C. 7/7 33/7
5. B
4 4 4
2 6V xa= A. 2675 B 217, C 307 227 6. _ D
7 C
3 3
3 ox3¥ = A 2¥ B 1 c 3% 7 A
9. A
4) 59/10 X 4= A. 27 /10 B. 28 /10 C 16 9/10 23 6/10
0. A
1 1
° gx2Y,= A. 307; B 197; C 30/ 36 7 u_ D
2. C
6 6 6 4 4
o) 6x2/g= A. 107 B. 22/ C. 24/ 16 /g
3 3 1 1 1
D 3x4¥,= A. 97, B. 97/, C. 147, 197/,
8 6% x6= A. 41 B. 467, C. 46 33
1 2 2 1 1
10) 5/g%x2= A. 107 B. 87 C. 67/ 15 /g
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Estimating Multiplication of Fractions

Name:

Determinethe answer u

sing estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,
The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

~N

/

1 1 3 3 1 4.
1) 3/4X3= A 16/4 B. 7/4 C. 9/4 15/4
5.
5 5 5 5
2) 6x7 /= A. 517 B. 47 C. 527 40 /g 6.
7.
1 1 1
3 6/7%x8= A. 407/ B. 497/, C. 457/, 46 /5 .
4) 7 7 8 .
4X4/10_ A 24/10 B. 18/10 C 22/10 12/10
10.
3 3 3
%) 67/7x8= A. 587, B. 457/, C. 467/, 51 /5 11.
12.
1 2 2 2
o) 2x4/3= A. 67, B. 47, C. 127, 875
3
D 3Yx2= A 117 B. 27 C 7 2
6 4 6
8) 4/10X9: A 33/10 B. 41/10 C 47/10 48/10
1
9 3% x9= A 39%, B a7, C 28 24
3 2 2
10 67 W= A. 387, B. 467, C. 367, 50 7,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _C

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7 whichis ([ 2 B
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 B
\_ ' /
1) 1 1 3 3 1 4. B
3/4X3= A 16/4 B. 7/4 C. 9/4 15/4
s. D
5 5 5 5
2 6x7%,= A. 5175 B 47 C. 527 40 7 6. _ D
7 C
1 1 1
3 6/7%x8= A. 407/ B. 497/, C. 457/, 46 /5 . B
o. C
7 7
4) 4X4/10_ A 24/10 B. 18/10 C 22/10 128/10
0. B
® 6%,xg= A s8%, B Y, C Y, 517, u_ A
12 A
1 2 2 2
o) 2x4/3= A. 67, B. 47, C. 127, 875
7 .3
37/g%x2= A 117 B. 27 C. 7 2
4
8) 46/10x9: A 33 /10 B. 41 /10 C 47 /10 486/10
1
9 3/9x9= A. 39 /9 B. 40 /9 C. 28 24
3 2 2
10 67 W= A. 387, B. 467, C. 367, 50 7,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0
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Estimating Multiplication of Fractions

Name:

Determinethe answer u

sing estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,
The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

~N

/

2 2 2 2 4.
D 5x2 4= A. 87, B. 67, C. 187, D. 127,
5.
2 2 2 2 2
2 3 /3x 7= A. 257, B. 317, C. 187, D. 357, 6.
7.
1 1 1 1 1
3 7/5%x6= A. 4075 B. 437/ C. 50/ D. 36/ .
4) 2 S
3x 47 = A. 8 B. 13 C. 18 D. 10
10.
5 2 2 5
®) 2x6%= A. 137 B. 97 C. 1673 D. 87/ 11
12.
2 1 2 1 1
o) 47/3%x5= A. 237, B. 1773 C. 287/ D. 187/
4 4 4
7) Ox8 /9: A. 76 B. 85 /9 C. 69 /9 D. 90
2 2
8 77,x9= A. 817, B. 747, C. 757, D. 677,
2 1 1
9 2x9 6= A. 187, B. 14/, C 237/ D. 227
10) 6 4 6 4 4
2x3/g= A 774 B. 10/3 C. 10/, D. 3/,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




C:h Estimating Multiplication of Fractions

Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _ D

number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

The actual answer is 33 1/3 whichis 2,

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,

between 5 x 6 (30) and 5 x 7 (35).

/

A
B
B
2 2 2 2 4.
D 5x2 4= A. 87, B. 67, C. 187, D. 127,
5. A
2 2 2 2 2
2 3% x7= A. 257, B 317, C 187, D. 357, 6. A
7 A
1 1 1 1 1
3 7/5%x6= A. 4075 B. 437/ C. 50/ D. 36/ . D
4 2 0. A
) 3x47. - A. 8 B. 13 C. 18 D. 10
0. A
2 2
®) 2x6%= A. 137 B. 97 C. 167 D. 8% u_ D
1. B
6) 42/3X5: A. 23]/3 B. 172/3 C 28]/3 D 18]/3
4 4 4
7) 9><8/9: A. 76 B. 85/9 C. 69 /9 D. 90
2 2
8 77,%x9= A. 817, B. 747, C. 7157, D. 677,
2 1 1
9 2x9 6= A. 187, B. 14/, C 237/ D. 227
6 4 6 4 4
10) 2x3/g= A 774 B. 10/3 C. 10/, D. 3/,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0
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Estimating Multiplication of Fractions

Name:

Deter mine the answer using estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,
The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

~N

/

1 2 1 1 2 4.
D 2xs 5= A. 1675 12/ C 20/ D. 207
5.
2 9x6Yy= A 57 51 C. 52 D. 667 6
7.
4 2 2 4 2
3 3x8¥= A. 297: 2175 C. 30 /g D. 2675 .
9.
5 5 5
Y 9 /o x 7= A. 607, 7375 C. 77 D. 68
10.
2 2 1 1
%) 37/3x2= A. 1175 474 C. 77, D. 1174 11.
12.
2 7 2 2 7
o) 97/gx8= A. 69 /g 6979 C. 687 D. 737,
4 1 4 4 1
D 9x3Y,= A. 327/ 23 /5 C. 40/, D. 257,
4 4 7 7
7 1 1 1 7
2 9 /gx 7= A. 77 /4 747/  C. 697/ D. 74 /4
6 3 3 3 6
10 56 /9= A. 337, 407y  C. 387 D. 26/,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0
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Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _ A

number you can

In the example above, 6 2/3 is

5x67,=33 7,

SSUMACUEANMNE ooy then 6 but lessthen 7. Theactual answer is 33 Zswhichis [l2 A
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 D
L | Y
D
1 2 1 1 2 4.
D 2xs 5= A. 1675 12/ C 20/ D. 207
s.  C
2 9x6¥,= A. 57 51 C. 52 D. 667 6 D
7 A
4 2 2 4 2
3 3x8¥= A. 297: 2175 C. 30 /g D. 2675 . B
o. C
5 5 5
4) 9 /7x 7= A. 60 /7 73 /7 C. 77 D. 68
0. A
2 2 1 1
%) 37/3x2= A. 1175 474 C. 77, D. 1174 u_ A
12 A
2 7 2 2 7
o) 97/gx8= A. 69 /g 6979 C. 687 D. 737,
4 1 4 4 1
D 9x3Y,= A. 327/ 23 /5 C. 40/, D. 257,
4 4 7 7
7 1 1 1 7
2 9 /gx 7= A. 77 /4 747/  C. 697/ D. 74 /4
6 3 3 3 6
10 56 /9= A. 337, 407y  C. 387 D. 26/,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0




C:h Estimating Multiplication of Fractions Name:

Deter mine the answer using estimation.

Answers

/
/ When multiplying a

number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

2
fraction and awhole 5x673=

In the example above, 6 2/3 is

larger than 6 but lessthan 7.
So we know the answer is going
to be between5x 6 and 5 x 7.

The actual answer is 33 1/3 whichis 2,

5x67,=33 7,

between 5 x 6 (30) and 5

~N

x 7 (35).

/

2 2 1 4.
1) 8x6 3= A. 53/3 B 46/3 44/3 D. 64/3
5.
3 5 3 5
2) 27/9%x6= A. 157, B. 227, 2474 D. 207, 6.
7.
1 1 1
3 77/6%x5= A. 3974 B. 327 43 /g D. 447/ .
4) 6 6 o
5x4/;= A. 17/, B. 15/, 22 /5 D. 28/,
10.
2 2
) 3x6%= A 2 B. 257, 247, D. 24 1
12.
4 1 1
O 4x7 5= A. 26/ B. 34/ 31 /s D. 347
3 6 3 3
N 6/7%x2= A. 127/ B. 16 / 17 /5 D. 87
8) 6x2%,= A. 8 B. 22 0%, D. 16
9) 75/6x7= A. 425/6 B. 635/6 595/6 D 545/6
3 6 3 3 6
10) g3 /9= A. 16 /4 B. 347, 2274 D. 26/,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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JL_

Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _ A

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7y whichis |2 A
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 A
L | Y
1) 2 1 . _C
8x6 3= A 53/3 B. 46/3 C 44/3 D. 64/3
5. A
5 3 5 3 5
2 2% x6= A 157, B. 227/, C. 247, D. 207, 6. _ C
7 A
5 1 1
3 77/6%x5= A. 3974 B. 327 C. 4374 D. 447/ . D
4) 4 6 o. _ D
5x4/;= A. 17/, B. 15/, C. 22/, D. 28/,
0. D
% 3x6%,= A. 20 B. 5%, C 4% D 2 un_ A
. B
4 4 1 1
O 4x7 5= A. 26/ B. 34/ C 31/ D. 347
3 6 6 3 3
N 6/7%x2= A. 127/ B. 16 / C. 177/ D. 87
8) 6x2%,= A. 8 B. 22 C. 2% D 16
5 5 5 5 5
2 77/x7= A. 427, B 63/ C 597; D. s/
3 6 3 3 6
10) g3 /9= A. 16 /4 B. 347, C 227, D. 26/,
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0
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Estimating Multiplication of Fractions

Name:

Determinethe answer u

sing estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,
The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

~N

/

2 1 1 4.
5.
2 2 2 2 2
2) 57gx4= A. 217 B. 217, C. 167 26 /¢ 6.
7.
6 6 6
3 2x3%,= A. 10 /4 B. 7/ C. 2/ 12 /g .
4) _3 3 2 3 o
77/5x 4= A. 367; B 37/, C 307 2575
10.
1 1 1
® 9x9%,= A. 937, B. 83/, C 997, 797, 11.
12.
® 57 x9= A s7Y, B 4 C. 46 63
5 3 5
N 37/9%x6= A. 16 /4 B. 157, C. 217 15 /4
1 2 1
8) 5/10X2: A 15/10 B. 10/10 C 14/10 16/10
9 gxg¥= A 84 B. 07, C 63 75
7 7 7 3 3
10) 5x4 /g= A 17 /4 B. 2873 C. 177 2474
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _ D

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7 whichis ([ 2 B
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 B
\_ ' /
1) 2 1 1 . _C
5. B
2 2 2 2 2
2 5% x4= A 217, B. 217, C. 167 26 7 6. _ C
7 C
6 6 6
3 2x3%,= A. 10 /4 B. 7/ C. 2/ 12 /g . B
4) _3 3 2 3 o. _D
77/5x 4= A. 367; B 37/, C 307 2575
0. D
1 1 1
® 9x97,= A. 937/, B. 837, C. 997, 797, u_ B
2. C
9 5% x9= A 5%, B 42 C. 46 63
5 3 5
N 37/9%x6= A. 16 /4 B. 157, C. 217 15 /4
1 2 1
8) 5/10X2: A 15/10 B. 10/10 C 14/10 16/10
9 9xg¥,= A. 84 B. 07, C. 63 75
7 7 7 3 3
10) 5 4 /g= A 17 /4 B. 2873 C. 177 2474
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0
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Estimating Multiplication of Fractions Name:

Determinethe answer u

sing estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

The actual answer is 33 1/3 whichis 2,

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,

between 5 x 6 (30) and 5

~N

x 7 (35).

/

2 2 2 2 2 4.
2 37/, x7= A. 147, B. 177, C. 247, D. 327,
5.
2 6x77,= A. 45 B. 38 C. 4%, D. 50 6.
7.
3 3%, xa= A. 10 B. 14 c 1% D9 :
4 2 4 2 S
A477;%9= A. 38/ B. 337, C. 271/, D. 347,
10.
1 1 1 1
® oY,x6= A 517, B. 57 C e4”, D. &Y% 1
12.
® 6% x3= A. 19 B. 24 C. 157, D. 23
) g% x5= A 4 B. 50 C 3% D 3
1 1 1 1 1
8) 2/2X7: A 17/2 B. 25/2 C. 23/2 D 10/2
3 3 3
9 5x3 4= A. 127, B. 187, C. 117, D. 227,
6 6 4 6 4
10) 2x3/g= A 117 B. 7/4 C. 10/ D. 11 /4
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Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _C

number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

The actual answer is 33 1/3 whichis 2,

So we know the answer is going

to be between 5 x 6 and 5 x 7.

5x67,=33 7,

between 5 x 6 (30) and 5 x 7 (35).

/

A
B
A
2 2 2 2 2 4.
2 37/, x7= A. 147, B. 177, C 247, D. 327,
5, B
2 6x77,= A. 45 B. 38 C. 4%, D. 50 6. A
7 A
3 3%, xa= A. 10 B. 14 c 1% D9 LA
4) 2 4 2 9, B
47,%x9= A. 38/, B. 337/, C 271/ D. 347,
0. B
1 1 1 1
® oY,x6= A 517, B. 57 C e4”, D. &Y% u_ A
. B
® 6% x3= A. 19 B. 24 C. 157, D. 23
) g% x5= A 4 B. 50 C 3% D 3
1 1 1 1 1
8) 2/2X7: A 17/2 B. 25/2 C. 23/2 D 10/2
3 3 3
9 5x3 4= A. 127, B. 187, C. 117, D. 227,
6 6 4 6 4
10) 2x3/g= A 117 B. 7/4 C. 10/ D. 11 /4
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Estimating Multiplication of Fractions

Name:

Deter mine the answer using estimation.

Answers

/
/ When multiplying a

number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

2
fraction and awhole 5x673=

In the example above, 6 2/3 is

larger than 6 but lessthan 7.
So we know the answer is going
to be between5x 6 and 5 x 7.

The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

5x67,=33 7,

~N

/

3 3 3 3 2 4.
2 57/,%x6= A. 217, B. 407, 387, 347,
5.
1 1 1 1 1
2 9 /% 7= A. 597, B. 737, 60 /5 66 /5 6.
7.
5 6 5 5 6
3 4x9%,= A. 38/ B. 347/, 427/ 44 /5 .
4) 3 3 3 o
8x77/~= A. 68 /6 B. 72 60 67 /6
10.
5) 73/5X4= A. 342/5 B 363/5 343/5 302/5 11.
12.
1 1
6) 77/3%6= A. 44 B. 407, 36 54
1 5 1 1 1
N 5/g%x5= A. 2574 B. 337/ 21 /4 22 /g
8) 5 5
9x97/y= A. 77/9 B. 86 93 78
5 5
N 4¥,x8= A 3 B. 307, 43 24
8 3 3 3 8
10 66 /9= A. 417, B. 337, 3474 32 /4
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C:h Estimating Multiplication of Fractions

Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _ D

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7 whichis ([ 2 D
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 A
\_ ' /
C
° 4,
2 53/4><6= A. 273’/4 B. 403’/4 383/4 347,
s. D
1 1 1 1 1
2 9% x7= A. 59/, B. 737, 60 7, 66 7, 6. A
7 A
5 6 5 5 6
3 4x9%,= A. 38/ B. 347/, 427/ 44 /5 . B
9. A
4) 8x73/ = A. 683/6 B. 72 60 673/6
0. A
2 2
5) 73/5X4= A. 34/5 B 363/5 343/5 30/5 11. A
2. D
1 1
6) 77/3%6= A. 44 B. 407, 36 54
1 5 1 1 1
N 5/g%x5= A. 2574 B. 337/ 21 /4 22 /g
8 9x9%, = A 77%,  B. 86 03 78
9 ,5 5
47,x8= A 36 B. 3074 43 24
8 3 3 3 8
10 66 /9= A. 417, B. 337, 3474 32 /4
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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